@ {x|xe 39 i)

@ {x|xE 7HI; 2L A%
® (x| xk 79 O

@ (x| xx= 100]5}9] A
(@){x | x= 100]5}9] B4

O




EZ]o]—AB7]—\q-__j_a_L]-71-__[LH AuBoﬂ Al:l:l:l:l:‘
Sfehis el A Astoteh )

@ I @ 1]
® [T TI1] @ T
6 T

AUB
Amgjjﬂ:lj]j




ANAG U = (1,2,3,4,5,6,7) 9] 5 LEAG A, Bo| thoto] ACUB =
(1,3,4,5,7} 4 o, ¥ An B BE ¥4 TS FotH?

@s @ 9 ®10 @1 ® 12

A°UB = (AN B)*
S ANB=(2,6)
L246=8




o] Sl Agoltt,

@x+1:4

Rk

®14+2<5

&)

o},

1

<H
R

shef 7}

B

3—1 [¢)
@
__'O_
ol EEtA| B2 YA|7} obytt.

N
©@ % r o




5. YA p - ~qg9 HeE=?

Op—-yq @ ~q - p ® ~qg - ~p

@~p—>q @q—>~p

p =gt =~go~pp o ~qgAHFE=~(~q) o~ p
.qg > ~p




6.

a>b>0¥ W, &+2 24 + b, a+ 202 HWAE H|WSH?

@ 2a+b<a+2b @ 2a+b<a+2b
@2a—|—b>a—|—2b @ 2a+b>a+2b

® 2a+b=a+2b

(2a+b)—(a+2b)=a-b>0
S2a+b>a+2b




7. a0, 65020 8% 4 (at ) (b4 D)ol Akgre Tobar

@6 o1 o018 @1 622

<a+1) <b+g) zab+9+1+g
b a ab

:10—i—ab—|-3
ab

210—i—2\/ab><2
ab

=104+6=16
whebd] 2534 16




obel 1L AT xolA A% ¥ 2o WS X - ¥E ek
Zoltt, fol Aoy, ¥, A9 =AU E a3t 229
X—L >y
1 a
b
C

®D {a,b,c}, {1,2}, {1,2,3)
® {1,2,3}, {a, b}, {a, b}

® {1,2,3), {a,b,c}, {a,b,c}

o

@ {a,b,c}, {1,2,3}, {1,2}
@{1,2,3}, {a,b,c}, {a,b}



XM x 2]

ol o %

S

{_1’ 0’ ]_}Oﬂ EH

At x =

9.

® f g h

@ f. h

O f

® g, h k

@y, nk

I o
= e

S

L B

w Al g
fo) o :
RN
o]
~ \F \__/ ~
— — -
%M\ v =
;OE N IJ,

Ho = S
w | o
We = -
ol <= T . 0
i
— v = L
—~ | © | o ToR
T TR Tl
U \_“./ __OD \L/ __OD ,__nmo
T e Tl o

% T X A
TEr TR

S = 2




-1 x=2 x+2
oara ¥ B = g
'I'I"E]ﬁ x4—|—x2—|—1+x2—x—|—1 x2+x+1E il

]

oli

ax2+bx+co N .
g 2™ e b coll Hsted abe o] gt
© 4 -2 @ @ 2 ® 4

B

-1 x=2 x+2
x4+x2+1+x2—x+1_x2—|—x+1

=14+ (x-2)(x2+x+1)
B 241

B (x+2)(x2-x+1)

4+ x2+1
-x?2 -5

= T
2t a=-1, b=0, c = -5 9|22 abc =0




@ 3

@2




T4 f(x) = V2x =4 ol Hiske] (f o f)(52) ©] & F-sIH?

D1 @ 2 ® 3 @)4 ® 5




13. A, B F /NS FARIE SAlol @& wf £2] &0l 4 =6 °] H

A9.0] 427

® 4 @5 ® 6 @7 @)

rr




14. 156 50 7H49] A4 Fol Al 3 i 5 o] wj40] A2

@s ou 0n @@ 6

3 9 Hjl7t 4 o= A A,

5 9] w47t e = ARdS B 2f ot

n(A) =16, n(B) = 10

ANB =335 9 Fujs,

Z 15 O WOl E2 n(ANB) =3

2. n(AUB) =n(A) +n(B) —n(AN B)
=16+ 10 -3 = 23(7H)




15. ol® 4toll: A2 T 5427} 5747} Gk o] Ahe Lezttht
el ot i o] 40 (@, ek o) 2 SRR Yoo gt

@9 @ 10 ® 15 @20 ® 25

~&B

| Ao SARE A, B, C, D, E 2t1l opAL Z2H2 uff AFHRS 4= QL
SARL 5 7127} 9lth. ghek 4 Satz g Lzt Yae
AE AL U4z SAZ B,C,D,E & 4 714 SAIRE
Sfjof g}, wrakA o] Ako] SAIRE o] &5l o] &=

(]

19, do rr o




